XSWM
B RIS 1 £ Q0" HANSAVFLEX

| {3 - -
B0 KSR BT . 51 <M
BHFR 1 BHBLRF Law (700
&0 2 KBRS AR e
BHER2 24 W% S g,
ERRE  ORARREE I 1
LUK AR’ ; | |
B DIN 2353 =5

ISO 8434-1 <G
REBE  BE(TEHRBINIERF) @D

R #
RERP BERE

#R
BRZE. A, EXARNATHIERENRAEEZSAERIEEZNERER.
# @

LR IHEEIBE @d2 G

(mm)

XSWM 04 LL LL PN 100 4 M8x1 12,5 6 17,0 8 10,5 14,5 12 14
XSWM 05 LL LL PN 100 5 M8x1 12,5 6 17,0 10 11,5 17,0 14 14
XSWM 06 LL LL PN 100 6 M10x 1 14,0 6 21,0 10 10,0 15,5 14 14
XSWM 08 LL LL PN 100 8 M10x1 14,0 6 21,0 10 11,0 16,5 14 14
XSWMNWO04HL12 L PN 250 6 M12x1.5 17,0 9 27,5 13 12,5 19,5 17 17
PN=fIEESD PB=BAKIEEN - FHRILL=3FER =B S=E - 0d2=E/NER
FREE
XSWM VA  [E#XIBRIERE AE0°, THN
SWM B RIBREE AE0°, W

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
24.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



